N = 0l & At & Ml A

20209 &= 20l A LEHSH nE
EA: WEI
MM SE2HO HZWSAMUHAHHA &S
e Hsns AEE 2HI|8 X4 (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
wE 20,240,077 17,033,397 3,206,680
= 82,202
g 2,550,000
Jl 106,400
& 831,172
Al 16,670,303
SEXHQ HESWSAHUAMHA & 12,423,384 9,819,001 2,604,383
= 82,202
g 400,000
J| 106,400
& 542,672
Al 11,292,110
sus 8N 29|t =4 12,400,384 9,799,001 2,601,383
= 82,202
g 400,000
J| 106,400
& 542,672
Al 11,269,110
AMUBHA BXEIGCA NESY TAIEA 50,000 50,000 0
207 &I & 50,000 50,000 0
01 24| 50,000 50,000 0
OAMUWHA 8EXl - HE2dd NEHXIA Y 30,000
OAUHA 22 MSHH NEZ XA 24 20,000
AMUHHA SEXed 2A8BAZ X2 1,902,372 1,698,837 203,535
307 212t01 & 1,902,372 1,698,837 203,535
09 2LHAHEXZ 1,902,372 1,698,837 203,535
OAMUWHA BN 2ABAZ(AMIE, EXE
) 1,902,372
2494 |tExZ2 AH 3,531,000 3,531,000 0
307 2izto| A 3,531,000 3,531,000 0]
09 2LHHEXZ 3,531,000 3,531,000 0
oMgEaxes RIIEBEXZS X&
294,250,000 x12& 3,531,000
S+9H MEXE X3 120,000 182,700 N62,700
307 2iz2to| & 120,000 182,700 A62,700
09 2L AHEXZ2 120,000 182,700 N62,700
OolHdMZ2& AABA HIAH HAEXSH
10,000, 000 =2CH 60 & 120,000
249N HEXNE NS(EX) 1,779,729 1,094,718 685,011
= 358,247
Al 1,421,482
307 2Iz2t0| A 1,779,729 1,094,718 685,011
o= 358,247
Al 1,421,482




2AMd: DS
M S SH0 HswsSHMHIATMA =2HE
S sns AFH 20|18t =4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 2HAHAEXS 1,779,729 1,094,718 685,011
O2=gA MEXNFS(HXH, a8 WSt
c g0, R28s) 1,779,729
< 358,247
Al 1,421,482
Hzsnss2d €1 & B3| 1,102,430 515,070 587,360
201 ¢er24| 300,430 233,070 67,360
01 At 22l 206,510 207,870 A1,360
OnsSYRFE At 22l 26,000
QHAIS (ML EXH)E NEER
40,000 *355CH = 1204 & 170,400
OfIds 44 1,610
Al 2R Ao A3 70,0003 +7H »23] 980
A MHE Yz 70,0003 x9H 13| 630
OxegssE a7 8,500
02 =224l 93,920 25,200 68,720
OuUSYEFL RBR=S 26,000
Os2& 2EAX HIIR=S
10,000 »36CHx12& 4,320
OH=ZSEAl S4&lHl 25,0003 =122 H 1204 & 3,600
OAlUH A s2& 24 2 i
500,000 *1200H 2 60,000
401 A& HIZ 201 Y] 802,000 282,000 520,000
01 A& Bl 802,000 282,000 520,000
OANMUHA S252F WM & UR48X(SY
=) 700,000
AMUHA C=E52E DA
10,000,000 *60H £~ 600,000
ANUHA HASZE AR £X
10,000, 000& *109H £ 100,000
OtHr& =9 tidel M s =2l 5,000
OAUHA EX BEXE X & =2 10,000
OAUH A s2& d8X EA M 5,000
OAUHA s28 38l 10,000
OHAI&sZZE 23| 22,000
SHAlIsZ2E &1 12,000,000& *«1JH £ 12,000
BAISZE FAE> 10,000
OF=QE 0 0l &F 50,000
HAESE B ZEBAME X 50,000
O12E DI Al&IHA 6,000 6,000 0
206 M= Hl 6,000 6,000 0
01 M= 4l 6,000 6,000 0
OHDIE 3t&Ea HoEE 7Y 6,000




2AMd: DS
M S SH0 HswsSHMHIATMA =2HE
S sns AFH 20|18t =4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OBHDIE AMEME(EX) 15,200 13,108 2,092
< 6,600
Al 8,600
402 2I2H X201 M 15,200 10,800 4,400
< 6,600
Al 8,600
02 2IZE 2 A EZ(OI XM TH ) 15,200 10,800 4,400
OWAEHDIY 2222 ZAH(LEEEHDIY) 15,200
< 6,600
Al 8,600
WEAL SEuESH+H 2 (EX) 400,000 314,400 85,600
J| 106,400
Al 293,600
307 glz2+0l & 400,000 314,400 85,600
J| 106,400
Al 293,600
05 Rzt E = 400,000 314,400 85,600
Ofgus=t 29 N& 400,000
J| 106,400
Al 293,600
ELAIXI &AL 28,500 73,500 A 45,000
307 21201 A 28,500 73,500 245,000
02 ItFAAHEX 28,500 73,500 A 45,000
OL2YH2HIs dse stefdA X
15,000,000 =14l 15,000
OZY &I wsSZHXA 10,000
OustH ZHe 2sAHY X 3,500
BIAIRI A (B ) 658,710 129,750 528,960
as 100,000
< 95,625
Al 463,085
307 glz2+ol & 658,710 129,750 528,960
as 100,000
< 95,625
Al 463,085
02 QB AANHFEX 206,550 129,750 76,800
OSsteAl 29 91,800
< 61,200
Al 30,600
OCHARS ItExx2 XN& 90,000
< 27,000
Al 63,000
OHANRS JtESME N 24,750
< 7,425
Al 17,325




2AMd: DS
M S SH0 HswsSHMHIATMA =2HE
S sns AFH 20|18t =4 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 2HAHAEXS 452,160 0 452,160
OH=ZSEA 29 452,160
s 100,000
Al 352,160
AMUWHA K& AS 480,800 105,400 375,400
307 glz2+ol & 8,400 0 8,400
02 HAHFHAANGFEX 8,400 0 8,400
OAILHBI A LEDRH A X Ot M2 KXl
00,000& 1271 & 8,400
402 RIZEXHE0I A 472,400 105,400 367,000
01 U2 EALE X (KA MR) 472,400 105,400 367,000
OAUHA 23AL SHAE 228 65,000
OAUHA o2 &M AFY  2,300,000& »28CH 64,400
OLZ HHZX X& At 50,000,000 *6CH 300,000
OAUHA EX 28 AlAE
1,000,000& =434 43,000
AMUHA &4EA 1,038,223 1,590,000 AB51, 777
307 21201 A 1,038,223 1,590,000 ABS1, 777
09 2+=HAHEBEXS 1,038,223 1,590,000 AB51, 777
OAMUHA &SN £A42d 1,038,223
HEsnssdd 41 ¢ ExFE(EX) 54,000 35,800 18,200
< 16,200
Al 37,800
401 AIEHIZL 2CHEI 54,000 35,800 18,200
< 16,200
Al 37,800
01 A& Hl 54,000 35,800 18,200
OHASZE B ZHAE £X
1,800,000 *30H £ 54,000
< 16,200
Al 37,800
HESIHA 2F KA (EX) 720,000 80,000 640,000
s 300,000
< 60,000
Al 360,000
307 21201 A 720,000 80,000 640,000
s 300,000
< 60,000
Al 360,000
02 It S AIHE L 720,000 80,000 640,000
Od==2 Ha =294 720,000
as 300,000
< 60,000
Al 360,000




2A:
M 5

5 - 4
SN HH-S(BN) - MBAY - B e 2
HAZEAIAHBIS)RE & 2 126,866 44,568 82,298
201 £B-2d| 46,866 27,468 19,398
02 3323l 46,866 27,468 19,398
OFE=TEX, D RASE=E
16,0003 =43CH 122 8,256
Oetuol &1z 4,000
O2REHEH 22| 30,0003 *43CH+128 15,480
OHAZE =ZHEX FA2e
30,0003 *43CH+128 15,480
OHAEE oIl sXlatel 730,000& +5CH 3,650
401 Al&HI & 28I 80,000 0 80,000
01 A& HI 80,000 0 80,000
OHAZ2Y HBAIAE(BIS)CHLHII &X
8,000,000& =10CH 80,000
ERAIZ XEXI & 340,000 260,000 80,000
2 78,000
Al 262,000
307 glz2tol & 340,000 260,000 80,000
= 78,000
Al 262,000
09 2HAHAEXS 340,000 260,000 80,000
OEAl Z2XHEA K& 340,000
= 78,000
Al 262,000
=RUEE sEHAs 23 18,150 18,150 0
201 L2l 18,150 18,150 0
02 22224l 18,150 18,150 0
Os &I sS4l 11,000 5504« 12& 7,260
OSEEX RANE= 16,500& x550 x12& 10,890
D2 WsSALD Mg X3 20,000 0 20,000
< 6,000
Al 14,000
301 LEEXZ 20,000 0 20,000
< 6,000
Al 14,000
12 JIEBHE4 3 20,000 0 20,000
ODYSHN SHHE HALE X
200,000& »100H 20,000
< 6,000
Al 14,000
AE=WSIHE XJAAS 8,404 0 8,404
= 4,202
Al 4,202
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EA: WEI
MM OFEID BRlE MF REBE 7S
Sl DEAL 29 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
OXEEM A3 & Ay
750,000, 000& *99. 28% 744 600
O2R2 e L MIoN B3H =2
30,000,000& = 14! 30,000
O=Rolttx JtHet 84X 50,000,000 *4CH 200,000
O=2Y =3I &= DAHA CCTV WX
30,000,000 *3H A 90,000
OF0I &0 0ol & 60,000
Has3Y W gt s E AXAY 60,000
03 Al 20| 10,665 10,665 0
Onsalsl & BES g2
550,000,000 *0.63% 3,465
ORNETXT Al 2 MY
250,000,000 *0.72% 1,800
ORI Hx] L AH| 750,000,000 *0.72% 5,400
IS AW ALSBRA(2F) 107,500 162,500 A55,000
o= 38,500
Al 69,000
401 Al HI L 204 HI 107,500 162,500 A 55,000
o=} 38,500
Al 69,000
01 Al&H| 107,500 162,500 A 55,000
OacE T OF2EZD| AXIALE
5,000,000 *90H & 45,000
= 13,500
Al 31,500
OogZy TXo AXAY 62,500
= 25,000
Al 37,500
NEAHAE 22 320,000 720,000 A 400,000
401 AlEHIZL £ 0HY| 320,000 720,000 A 400,000
01 Al&H| 317,840 714,960 A 397,120
ONEHEZ HUIAME(SANES)
300,000, 000& *99. 28% 297,840
ONEHEZ AIEE SAES=AY 20,000
03 A& 2 0HH]| 2,160 5,040 A2,880
ONEHEZ HUIAIY 300,000,000 *0.72% 2,160
XE 2 50,000 50,000 0
201 et d| 50,000 50,000 0
01 AP 22| H| 50,000 50,000 0
OYAIS Hat MHEAH B2 DY 50,000
BASEME Z22M 0IE NAY 60,000 45,000 15,000
401 AlEHIZ 2 0HY| 60,000 45,000 15,000




2N

[}

wEW
M oFME D Bols MW NESH 1E
ool DEAM 29 (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
01 Al&H| 60,000 45,000 15,000
OstAa g g o Xt 2,500,000 244 A 60,000
OIS0 E5 3 ZAAY 500,000 0 500,000
= 250,000
Al 250,000
401 AlEHIZL 2 0HY| 500,000 0 500,000
= 250,000
Al 250,000
01 Al& B 500,000 0 500,000
ObtS=F0 B39 LAY 500,000
& 250,000
Al 250,000
o{glo] wsotd 520,000 20,000 500,000
= 250,000
Al 270,000
BEs39 2 20,000 20,000 0
401 A& HI L E0HHI 20,000 20,000 0
01 A& H| 19,784 19,784 0
ONelol Es3E AIE2 KANES
20,000, 000& *98.92% 19,784
03 A& E2HH| 216 216 0
ONelol Es32 AIE2 KAES
20,000,000& x1.08% 216
Helol B39 M AY 500,000 0 500,000
Fag 250,000
Al 250,000
401 Al HI L 2 0HHI 500,000 0 500,000
= 250,000
Al 250,000
01 Al& H| 500,000 0 500,000
Ogo B39 HEAY 500,000
Fag 250,000
Al 250,000
SHE F=XE23 X4 4,101,685 3,905,000 196,685
= 1,900,000
Al 2,201,685
SHFEIE HUIAY 301,685 105,000 196,685
101 e1214| 6,185 0 6,185
04 JI2ZtHIZ22NEES 6,185 0 6,185
OR2H RZAFUE &4 S A2
8,590 x1H 2 Al 2H+30L 1200 & 6,185
201 et | 15,500 25,000 A9,500
01 AF2 2t 2| bl 12,000 22,800 A 10,800




EA: WEI
MM oMGID WelE MW DESY 2E
S BHE FUEs E4 EERED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O B2HF=XNE SH&EA 22MEs 7Y 8,000
OL®e BYFHE Y2 4,000
02 E2=2=2%H| 3,500 2,200 1,300
O 223 SIEFXNHE & o=, &I 22| 3,500
401 AlEHIZ 2 0HY| 280,000 80,000 200,000
01 Al& B 279,136 79,136 200,000
O2LFXE HHAMY 80,000, 000& x98.92% 79,136
OF0IE 0 0ol & 200,000
24232 @ SHAFUE L BA 200,000
03 Al 201 Y| 864 864 0
OZ2LF=XE HUHAMY 80,000,000 *1.08% 864
LU= E RAEAS(EXR) 3,800,000 3,800,000 0
Fag 1,900,000
Al 1,900,000
401 AlEHIZL 2 0HY| 3,800,000 3,800,000 0
Fag 1,900,000
Al 1,900,000
01 Al&H| 3,786,320 3,786,320 0
O29 =Xz =4 3,800,000, 000& %99 .64% 3,786,320
g 1,900,000
Al 1,886,320
03 A& E2HH| 13,680 13,680 0
O29F=x& =4 3,800,000, 000& x0.36% 13,680
=2 KN 29 18,669 19,000 A 331
SIS Z2Y XX HUIAY 18,669 19,000 A 331
101 124 H| 4,169 0 4,169
04 JI2ZtHIZ2 2 NEES 4,169 0 4,169
Os229XM1DX ox o
130,260 »4H 4 x23| 4,169
201 et d9d| 11,000 12,000 A 1,000
02 2%l 11,000 12,000 A 1,000
OII=S2Z2EXNLXN 2222 11,000
206 M = H| 500 0 500
01 X2 H| 500 0 500
Osz229x10K M= 22N 2 (&=F, o
Y ) 500
401 AIEHIZL 2 0HY| 3,000 7,000 A4 ,000
01 Al&H| 3,000 7,000 A 4,000
OS2I XX A2 3,000
2L WEHNE HIMIA 55,139 174,496 A 119,357
Z2LIE2 nNECH 55,139 174,496 A 119,357
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